1. Solve the following system of Inequalities by graphing.
For parabolas, you anly need fo graph the vertex and ft least 2 points on each side of the vertex

y2-xt+7x-12 3x — 4y > 16 -7
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2. Solve. —18x* —3x+36<0




1. Give 3 guadratic inequality whose solution is -5 < ¢ < :—.‘I"ml' answer should look like:
ax? + bx + ¢ __ 0, where the holds an inequality sign. [<, =, <, or =)
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eost. Mr G starting a

4. For a company To stay in business, thes @ must be larger than thel
2n + 15

diamaond ihppm[ business. The cost, dull rs tn ship diamonds is given h-,- r‘ 0.1n
wher % the number of kilograms !d amonds shipped each month. The revenus made h'fshpp ,g
dummds sgvenby: B = 4n + 1. What range of diamond mass can Mr G H‘IID each month while

stayng in business? [Answer carrectly rounded o 2 decimal places)
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